2. What is the average time to read or write a 512 Byte sector for a typical disk rotating
at 3000 rpm? The advertised average seek time is 20ms, the transfer rate is 2MB/S,
and the controller overhead is 2ms.Assume that the disk is idle so that there is no
waiting time.

(A)31.25 ms
(B) 32.25 ms
(C) 40 ms
(D) 32 ms
(E) 30 ms
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5. There are three scheduling protocols: FIFO, SJF (non-preemptive), and Round Robin.
Which one is more appropriate for a time-shared system? Which one provides the

shortest waiting time?
(A) SJF, FIFO
(B) FIFO, SJF

(C) FIFO, Round Robin

(D) SJE, SJF
(E) Round Robin, SJF
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1. FIFO ( First-in-First-out )
(1) & fTRAHGPFFRA) > RELERCPUSH TR -
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> MR L EAEINEAEARAREREMELR
HCPUH AR -

(3) #r 3% :
A, HEEE FHHFHASFMNADRSRTFEE -
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2. SJF ( Shortest Job Foirst)

(1)

2)

(3)

£ &
KB ATA M % £ 9 CPUBE ) R 85 F » AR/ A AS R 5 AT
CPU¥ #] 4 -

2

A, BMERE FHEHFE RS FFE R -
B. F&®ARMBBE -

C. #@mAnEMELK -
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5. Round-Robin (RR)
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(3) HEGSERAEMNCPUSE T4 HFR
CPUE & 1% M 85 4] & IR K —>FIFO
CPUE 5% 1 B 8 [] Bp v— % 44 4 BP K &Y context switch &
Fé
CPUE E{ A oF ] E3H L A AL3580% 8 THE LR
ME R -
f5] *
Process CPU burst time
P1 10
P2 29
P3
P4
P5 12
CPU #E# :
[P lp2| P3| pa | ps | P2 [ ps | P2 |
0 10 20 23 30 40 50 52 61



7. If your computer has the IP address 128.96.10.123, and the subnet mask is set to
255.255.0.0, your computer will connect directly to all computers whose IP address

starts with?

(A) 128

(B) 128.96.10

(C) 128.96

(D) 128.96.10.123
(E) None of the above
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6. T4 % (Subnet mask) : 7 A j#fhost ID4E %8 4 % subnet ID
Fuhost ID °

7. # A Arhk (Private Address) : & = &ZIP# % & 18 A W3 JE HIP »
fEfTEBATAEBEMER A FEEFH -
10.0.0.0~10.255.255.255
172.16.0.0~172.31.255.255
192.168.0.0~192.168.255.255

> HIBR T PR R AR
IP Address

2. Subnet Mask
3. Gateway Address : FAx @B MEME -
4. DNS Server adderss

(1) #3% % # % %DNS : Domain Name System

2 BAPRALZIHT > A5 HLE > BibtE K
Bepl @y TUALR—BXSBARLH
5] 42 yahoo#y 44 B # & www.yahoo.com °



11. Sort the following elements of the memory hierarchy in order of increasing access
time. (Start from the fastest)
() L1 cache (b) L2 Cache (c) Network (d) Main memory (¢) CPU Registers (f) Hard
disk
(A) ebadfc
(B) eabdcf
(C) eabdfc
(D) ebadcf
(E) None of the above
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Please compare the transfer rates among the following components:

RAM, Hard Disk, Register, Cache, Optical Discs and Tape. (10%)
(BFHFL)

[#]
Register > Cache > RAM > Hard Disk > Optical Disk > Tape



12. Regarding RAID levels 1,3,4,5 and 6, which one has the highest check disk overhead?
and which one has worst throughput for small writes?
(A) RAID 2, RAID 5
(B) RAID 2, RAID 3
(C)RAID 1, RAID 4
(D)RAID 1, RAID 3
(E) RAID 3, RAID 6
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14. Which is the IEEE standard that sets the standards for wireless (Wi-Fi) networking?

(A) 802.11
(B) 802.1
(C) 802.3
(D) 802.15
(E) 802.16
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802.5 % # T token ring® & 49 35 69 42 £

802.6 £ f T2 & 9 ( Metropolitan Network )
DQDBi#h &

802.11 TEHETERHEESRMIE (Wireless LANs, Wi-Fi)
ZARE -

802.14 CATVH: #

802.15 EFiE
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16. How many units are there in Von Neumann Architecture?
(A)2
B)3
©4
D)6
(E)5
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20. What is the output of the following C++ program?

#include <iostream>
using std::cout;
using std::endl;

int Q(int K)

{
static int conut = 2;
int SUM = conut;

conut += K
return SUM;

}

int P(int K)

{ .
int conut = 2;
int SUM = conut;
conut += K;
return SUM;

}

int main()

{
for(inti=1;i<=8;i<<=1) {

cout << Q(1);
}
for(inti=1;i<=8;i<<=1){
cout << P(i);

}
system("pause");
return 0;

}

(A) 12481111 (B)24593333 (C)23592222 (D) 23593333 (E) 12482222
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— C++A AN B

//A simple c++ program —r KM

#include <iostream> ——————+—> M i% B <iostream>#) N B AT X

HobfTzth » AATRE

using namespace std; —————> R Mstdi N B
T )| —— - R T S L B

AL KSR Aintd) B

cout << "start from zero." P ~——

T M—mR A AL

return 0; CH+F oA PMELTRIFBH R
} t
|
# % & $main( ) main & 8 & A8
(—) 4% #

1.

& # (function) ' BATURERTHRABEL L
{#) ¥ #main -

%8 (variable) * eiE# ¥ B REBFTHeGRE £ 45 -
A (type) JarmfetdfF2x THMEIE L4 0 #lint ~
string... % -

Ha# (label) ' RM{HIIH B TR KABEHHBT - £D R
M i R fgotofkifi &) — AR -

%3 (header) ' 4H ER — @R ET AW X 2A
LTS TUBRIIAEZKLS T » o Lol
" #include <iostream=> ;| °

452N (namespace) ' MRE R X b —aH LMeHA
B &) — %4 4o ey " using namespace std | ¢



